

The law of exponential decay for r -adic transformations

by M. JABŁOŃSKI (Kraków)

Abstract. Let $([0, 1], \mu_f)$ be a probability space with $d\mu_f = fd\mu$, $f \in L^1$, and let $T(x) = rx \pmod{1}$ for $x \in [0, 1]$. Denote by F_ε the distribution of the random variable given by the formula

$$\xi_\varepsilon(x) = \max \{n: T^k(x) > \varepsilon, k = 0, 1, 2, \dots, n\}.$$

Then $F_\varepsilon(z/\varepsilon)$ tends to an exponential function as $\varepsilon \rightarrow 0$ and the limiting function does not depend on the initial f .

1. Introduction. Consider the transformation of the unit interval into itself $T(x) = rx \pmod{1}$ and the family of random variables

$$\xi_\varepsilon(x) = \max \{n: T^k(x) > \varepsilon, k = 0, 1, 2, \dots, n\}$$

which measure the time we must wait to observe $T^n(x) \notin [0, \varepsilon]$.

The purpose of this paper is an investigation of limiting behaviour of these variables as ε tends to zero. We shall show that the distribution of these random variables tends to an exponential function as $\varepsilon \rightarrow 0$. This is proved by showing that the limiting function is a solution of a certain linear differential equation.

A. Lasota and J. A. Yorke dealt with a similar problem in [7]. They considered a family of transformations $T_\varepsilon: A \rightarrow R^n$, $A \subset R^n$, and a family of random variables which measure the time we must wait to observe $T^n(x) \notin A$. The main result of those authors shows that the limiting distribution of those random variables is also, as in our case, an exponential function. But the proof of their results is based on another idea than that of ours.

In Section 2 we state the main theorem. In Section 3 we prove some necessary lemmas and the main theorem. In Section 4 we state and prove a corollary to the main theorem.

2. The law of exponential decay for r -adic transformations. Denote by μ the Lebesgue measure and by L^1 the space of all integrable functions defined on $[0, 1]$.

Let N denote the set of all natural numbers.

THEOREM 1. Let $T: [0, 1] \rightarrow [0, 1]$ be given by the formula

$$T(x) = rx \pmod{1}$$

where r is a natural number greater than 1 and let

$$\xi_\varepsilon(x) = \max \{n: T^k(x) > \varepsilon, k = 0, 1, \dots, n-1\}.$$

Then for any $f \in L^1$, $f \geq 0$, $\|f\| = 1$,

$$\lim_{\varepsilon \rightarrow 0} F_\varepsilon \left(f, \frac{z}{\varepsilon} \right) = 1 - \exp \left(\frac{1-r}{r} z \right),$$

where $F_\varepsilon(f, z) = \mu_f \{x: \xi_\varepsilon(x) < z\}$, $d\mu_f = f d\mu$.

3. Auxiliary lemmas and the proof of Theorem 1. In the proof of Theorem 1 we shall use the following lemmas and theorems.

LEMMA 1. Let a transformation $T: [0, 1] \rightarrow [0, 1]$ satisfies the assumptions of Theorem 1 and let

$$A_i = \left\{ \frac{k_i}{r^n}, \frac{l_i + \alpha_i}{r^n} \right\}, \quad i = 1, 2, \dots, m,$$

be a set of intervals with $k_i, l_i \in N$, $l_i + \alpha_i \leq r^n$ and $0 \leq \alpha_i < 1$. Then for every $\varepsilon \in (0, 1)$ there exists $\theta \in [-1, 1]$ such that

$$\mu \left(\bigcup_{i=1}^m A_i \cap T^{-n}([0, \varepsilon]) \right) = \mu \left(\bigcup_{i=1}^m A_i \right) \varepsilon + \theta \varepsilon \frac{m}{r^n}.$$

Proof. It is easy to see that

$$(1) \quad \mu \left(\left[\frac{k}{r^n}, \frac{k+1}{r^n} \right] \cap T^{-n}([0, \varepsilon]) \right) = \frac{1}{r^n} \varepsilon$$

for $k = 0, 1, 2, \dots, r^n - 1$. Since there exists a sequence $\{\bar{k}_i\}_{i=1}^{m_1} \subset N$ such that $\bar{k}_1 < \bar{k}_2 < \dots < \bar{k}_{m_1} < r^n$ and

$$\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i}{r^n} \right] = \bigcup_{i=1}^{m_1} \left[\frac{\bar{k}_i}{r^n}, \frac{\bar{k}_i+1}{r^n} \right],$$

from (1) we obtain

$$\begin{aligned} (2) \quad & \mu \left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i}{r^n} \right] \cap T^{-n}([0, \varepsilon]) \right) = \mu \left(\bigcup_{i=1}^{m_1} \left[\frac{\bar{k}_i}{r^n}, \frac{\bar{k}_i+1}{r^n} \right] \cap T^{-n}([0, \varepsilon]) \right) \\ & = \sum_{i=1}^{m_1} \mu \left(\left[\frac{\bar{k}_i}{r^n}, \frac{\bar{k}_i+1}{r^n} \right] \cap T^{-n}([0, \varepsilon]) \right) = \sum_{i=1}^{m_1} \mu \left(\left[\frac{\bar{k}_i}{r^n}, \frac{\bar{k}_i+1}{r^n} \right] \right) \varepsilon \\ & = \mu \left(\bigcup_{i=1}^{m_1} \left[\frac{\bar{k}_i}{r^n}, \frac{\bar{k}_i+1}{r^n} \right] \right) \varepsilon = \mu \left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i}{r^n} \right] \right) \varepsilon. \end{aligned}$$

Let $\gamma_i = 1$ if $\alpha_i > 0$ and $\gamma_i = 0$ if $\alpha_i = 0$. From (2) we have

$$\begin{aligned}
 (3) \quad \mu\left(\bigcup_{i=1}^m A_i \cap T^{-n}([0, \varepsilon])\right) &\geq \mu\left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i}{r^n}\right] \cap T^{-n}([0, \varepsilon])\right) \\
 &= \mu\left(\bigcup_{i=1}^m \left(\left[\frac{k_i}{r^n}, \frac{l_i + \gamma_i}{r^n}\right] \setminus \left[\frac{l_i}{r^n}, \frac{l_i + \gamma_i}{r^n}\right]\right) \cap T^{-n}([0, \varepsilon])\right) \\
 &\geq \mu\left(\left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i + \gamma_i}{r^n}\right] \setminus \bigcup_{i=1}^m \left[\frac{l_i}{r^n}, \frac{l_i + \gamma_i}{r^n}\right]\right) \cap T^{-n}([0, \varepsilon])\right) \\
 &= \mu\left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{k_i + \gamma_i}{r^n}\right] \cap T^{-n}([0, \varepsilon])\right) - \\
 &\quad - \mu\left(\bigcup_{i=1}^m \left[\frac{l_i}{r^n}, \frac{l_i + \gamma_i}{r^n}\right] \cap T^{-n}([0, \varepsilon])\right) \\
 &\geq \mu\left(\bigcup_{i=1}^m A_i\right) \varepsilon - \frac{m}{r^n} \varepsilon,
 \end{aligned}$$

$$\begin{aligned}
 (4) \quad \mu\left(\bigcup_{i=1}^m A_i \cap T^{-n}([0, \varepsilon])\right) \\
 \leq \mu\left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i}{r^n}\right] \cap T^{-n}([0, \varepsilon])\right) + \mu\left(\bigcup_{i=1}^m \left[\frac{l_i}{r^n}, \frac{l_i + \gamma_i}{r^n}\right] \cap T^{-n}([0, \varepsilon])\right) \\
 \leq \mu\left(\bigcup_{i=1}^m \left[\frac{k_i}{r^n}, \frac{l_i}{r^n}\right]\right) \varepsilon + \frac{m}{r^n} \varepsilon \leq \mu\left(\bigcup_{i=1}^m A_i\right) \varepsilon + \frac{m}{r^n} \varepsilon.
 \end{aligned}$$

Inequalities (3) and (4) result in the assertion of the lemma.

Let $s(\varepsilon) = \max \{n \in N : 1/r^n < \varepsilon\}$, and let $[t] = \max \{n \in N : n \leq t\}$ for $t \in R$.

LEMMA 2. *If a transformation $T: [0, 1] \rightarrow [0, 1]$ satisfies the assumptions of Theorem 1, then for any $t > s(\varepsilon)$ there exists $\theta \in [-4, 4]$ such that*

$$\begin{aligned}
 \mu\left(\bigcup_{n=0}^{[t+1]} T^{-n}([0, \varepsilon])\right) - \mu\left(\bigcup_{n=0}^{[t]} T^{-n}([0, \varepsilon])\right) \\
 = \varepsilon \left(1 - \frac{1}{r}\right) - \varepsilon \left(1 - \frac{1}{r}\right) \mu\left(\bigcup_{n=0}^{[t]-s(\varepsilon)} T^{-n}([0, \varepsilon])\right) + \frac{\theta \varepsilon}{r^{s(\varepsilon)-1}}.
 \end{aligned}$$

Proof. It is obvious that

$$\mu\left(\bigcup_{n=0}^{k+1} T^{-n}([0, \varepsilon]) \setminus \bigcup_{n=0}^k T^{-n}([0, \varepsilon])\right) = \varepsilon (1 - 1/r)$$

for $k = 0, 1, \dots, s(\varepsilon) - 2$. Hence, in view of the fact that T preserves μ , we have

$$(5) \quad \mu\left(\bigcup_{n=p}^{p+k+1} T^{-n}([0, \varepsilon]) \setminus \bigcup_{n=p}^{p+k} T^{-n}([0, \varepsilon])\right) = \varepsilon(1 - 1/r)$$

for $p \in N$ and $k = 0, 1, \dots, s(\varepsilon) - 2$. We also have

$$(6) \quad \bigcup_{n=q}^{p+k} T^{-n}([0, \varepsilon]) \cap T^{-p-k-1}([0, \varepsilon]) = T^{-p-k}([0, \varepsilon/r])$$

for $p, q \in N$, $k = 0, 1, \dots, s(\varepsilon) - 2$ and $p \leq q \leq p+k$.

It is easy to verify that

$$(7) \quad \mu(A \cup B \cup C) - \mu(A \cup B) = \mu(B \cup C \setminus B) - \mu(A \cap C) + \mu(A \cap B \cap C)$$

whenever $\mu(A \cup B \cup C) < \infty$.

Setting

$$A = \bigcup_{n=0}^{k_{te}} T^{-n}([0, \varepsilon]), \quad B = \bigcup_{n=k_{te}+1}^{[t]} T^{-n}([0, \varepsilon]) \quad \text{and} \quad C = T^{-[t+1]}([0, \varepsilon])$$

where $k_{te} = [t] - s(\varepsilon) + 1$, from (5), (6), (7) and Lemma 1 we obtain

$$\begin{aligned} & \mu\left(\bigcup_{n=0}^{[t+1]} T^{-n}([0, \varepsilon])\right) - \mu\left(\bigcup_{n=0}^{[t]} T^{-n}([0, \varepsilon])\right) \\ &= \varepsilon \left(1 - \frac{1}{r}\right) - \mu\left(\bigcup_{n=0}^{k_{te}} T^{-n}([0, \varepsilon])\right) - \theta_1 \left(\frac{1+r+\dots+r^{[t]-s(\varepsilon)+1}}{r^{[t+1]}}\right) \varepsilon + \\ & \quad + \mu\left(\bigcup_{n=0}^{k_{te}} T^{-n}([0, \varepsilon])\right) \frac{\varepsilon}{r} + \theta_2 \left(\frac{1+r+\dots+r^{[t]-s(\varepsilon)+1}}{r^{[t]}}\right) \frac{\varepsilon}{r} \end{aligned}$$

where θ_1 and θ_2 belong to $[-1, 1]$. This yields the equality

$$\begin{aligned} & \mu\left(\bigcup_{n=0}^{[t+1]} T^{-n}([0, \varepsilon])\right) - \mu\left(\bigcup_{n=0}^{[t]} T^{-n}([0, \varepsilon])\right) \\ &= \varepsilon \left(1 - \frac{1}{r}\right) - \mu\left(\bigcup_{n=0}^{k_{te}} T^{-n}([0, \varepsilon])\right) \left(1 - \frac{1}{r}\right) \varepsilon + (\theta_2 - \theta_1) \frac{r^{[t]-s(\varepsilon)+2} - r}{r-1} \cdot \frac{1}{r^{[t+1]}}, \end{aligned}$$

which completes the proof of the lemma.

A sequence of functions $\{f_n\}_{n=1}^{\infty}$, $f_n: [a, b] \rightarrow R$ is said to be *quasi-equicontinuous* on $[a, b]$ if for every $\eta > 0$ there exist n_0 and $\delta > 0$ such that

$$|f_n(x) - f_n(y)| < \eta$$

whenever $|x - y| < \delta$, $x, y \in [a, b]$, and $n > n_0$.

We shall need the following generalization of the Arzela theorem.

THEOREM (Arzela). *If a sequence $\{f_n\}_{n=1}^{\infty}$, $f_n: [a, b] \rightarrow R$, is uniformly bounded on $[a, b]$ and quasi-equicontinuous on $[a, b]$, then*

- (i) $\{f_n\}_{n=1}^{\infty}$ contains a uniformly convergent subsequence $\{f_{n_j}\}$,
- (ii) $\lim_{j \rightarrow \infty} f_{n_j}$ is a continuous function.

The proof of this theorem is identical with that of the Arzela theorem in its usual formulation.

LEMMA 3. Let $\{f_n\}_{n=1}^{\infty}$ be a sequence of continuous piecewise linear functions from $[a, b]$ into R . If $\{f_n\}$ is uniformly convergent to a function f and the sequences $\{f'_{n+}\}_{n=1}^{\infty}$ and $\{f'_{n-}\}_{n=1}^{\infty}$ of the right and left derivatives of the functions f_n converge uniformly to a continuous function \bar{f} , then f has a continuous derivative and

$$\bar{f} = \lim_{n \rightarrow \infty} f'_{n+} = \lim_{n \rightarrow \infty} f'_{n-} = f'.$$

Proof. The proof of this lemma is a consequence of the continuity of the limiting function \bar{f} and of the inequalities

$$\begin{aligned} \frac{f(x_1) - f(x_2)}{x_1 - x_2} &\leq \lim_{n \rightarrow \infty} \frac{f_n(x_1) - f_n(x_2)}{x_1 - x_2}, \\ \lim_{n \rightarrow \infty} \sup_{k > n} \frac{f_k(x_1) - f_k(x_2)}{x_1 - x_2} &\leq \lim_{n \rightarrow \infty} \sup_{k > n} \left\{ \sup_{\theta \in [x_1, x_2]} \{ \max \{ f'_{k+}(\theta), f'_{k-}(\theta) \} \} \right\} = \sup_{\theta \in [x_1, x_2]} \bar{f}(\theta), \\ \frac{f(x_1) - f(x_2)}{x_1 - x_2} &\geq \lim_{n \rightarrow \infty} \frac{f_n(x_1) - f_n(x_2)}{x_1 - x_2} \geq \lim_{n \rightarrow \infty} \inf_{k > n} \frac{f_k(x_1) - f_k(x_2)}{x_1 - x_2} \\ &\geq \lim_{n \rightarrow \infty} \inf_{k > n} \left\{ \inf_{\theta \in [x_1, x_2]} \{ \min \{ f'_{k+}(\theta), f'_{k-}(\theta) \} \} \right\} = \inf_{\theta \in [x_1, x_2]} \bar{f}(\theta). \end{aligned}$$

It is easy to verify the following

LEMMA 4. Let us consider a family of functions $\{f_\varepsilon\}_{\varepsilon \in [0, 1]}$, $f_\varepsilon: [0, \infty) \rightarrow [0, 1]$. If there exists a function f such that for any sequence $\varepsilon_n \rightarrow 0$ and for any interval $[0, a]$, $a < \infty$, there exists a subsequence ε_{n_j} of ε_n such that $f_{\varepsilon_{n_j}} \rightarrow f$ uniformly on $[0, a]$, then there exists $\lim_{\varepsilon \rightarrow 0} f_\varepsilon$ and f_ε converges uniformly to f on any interval $[0, a]$, $a < \infty$.

LEMMA 5. If a transformation $T: [0, 1] \rightarrow [0, 1]$ satisfies the assumptions of Theorem 1, then for $z \geq 0$

$$\lim_{\varepsilon \rightarrow 0} F_\varepsilon \left(\frac{z}{\varepsilon} \right) = 1 - \exp \left(\frac{1-r}{r} z \right),$$

where

$$F_\varepsilon \left(\frac{z}{\varepsilon} \right) = \mu \left(\bigcup_{n=0}^{\lfloor z/\varepsilon \rfloor} T^{-n}([0, \varepsilon]) \right).$$

Proof. For $z_1 > z_2$ we have

$$\begin{aligned} F_\varepsilon\left(\frac{z_1}{\varepsilon}\right) - F_\varepsilon\left(\frac{z_2}{\varepsilon}\right) &\leq \sum_{n=\lceil z_2/\varepsilon \rceil}^{\lfloor z_1/\varepsilon \rfloor} \mu(T^{-n}([0, \varepsilon])) \\ &= \varepsilon \cdot \left(\left\lfloor \frac{z_1}{\varepsilon} \right\rfloor - \left\lfloor \frac{z_2}{\varepsilon} \right\rfloor \right) \leq z_1 - z_2 + \varepsilon. \end{aligned}$$

Therefore, for any sequence ε_n converging to zero the sequence of functions $F_{\varepsilon_n}(z/\varepsilon_n)$ is quasi-equicontinuous on $[0, \infty)$. Hence, from $F_{\varepsilon_n}(z/\varepsilon_n) \leq 1$, by the Arzela theorem it follows that for any $\varepsilon_n \rightarrow 0$ and any interval $[0, a]$, $a < \infty$, there exists a subsequence ε_{n_j} such that $F_{\varepsilon_{n_j}}(z/\varepsilon_{n_j})$ converges uniformly on $[0, a]$.

Now, let us assume that $F_{\varepsilon_n}(z/\varepsilon_n)$ converges uniformly on $[0, a]$ as $\varepsilon_n \rightarrow 0$, for some $a > 0$.

Denote by $G_n(z)$, $n = 1, 2, \dots$, the function given by

$$(8) \quad G_n(z) = \begin{cases} F_{\varepsilon_n}(z/\varepsilon_n) & \text{if } z/\varepsilon_n \in N, \\ F'_{\varepsilon_n}(z)(z - t_{zn}) + F_{\varepsilon_n}(\lfloor z/\varepsilon_n \rfloor) & \text{if } z \in (t_{zn}, t_{zn} + \varepsilon_n), \end{cases}$$

where

$$F'_{\varepsilon_n}(z) = \frac{F_{\varepsilon_n}(\lfloor z/\varepsilon_n \rfloor + 1) - F_{\varepsilon_n}(\lfloor z/\varepsilon_n \rfloor)}{\varepsilon_n}$$

and $t_{zn} = \lfloor z/\varepsilon_n \rfloor \varepsilon_n$. Since $|F_{\varepsilon_n}(z/\varepsilon_n) - G_n(z)| \leq \varepsilon_n$, the sequence $G_n(z)$ converges uniformly to the same function as $F_{\varepsilon_n}(z/\varepsilon_n)$. If $z/\varepsilon_n \notin N$, then from Lemma 2 and from (8) it follows that there exists $\theta_n \in [-4, 4]$ such that

$$(9) \quad G'_n(z) = \left(1 - \frac{1}{r}\right) - \left(1 - \frac{1}{r}\right) \mu\left(\bigcup_{m=0}^{k_{zn}} T^{-m}([0, \varepsilon_n])\right) + \frac{\theta_n}{r^{s(\varepsilon_n)-1}}$$

where $k_{zn} = \lfloor z/\varepsilon_n \rfloor - s(\varepsilon_n)$. Similarly, if $z/\varepsilon_n \in N$, then there exist $\theta_n^+, \theta_n^- \in [-4, 4]$ such that the right and left derivative of G_n are given by the formulas

$$(10) \quad G'_{n+}(z) = \left(1 - \frac{1}{r}\right) - \left(1 - \frac{1}{r}\right) \mu\left(\bigcup_{m=0}^{k_{zn}} T^{-m}([0, \varepsilon_n])\right) + \frac{\theta_n^+}{r^{s(\varepsilon_n)-1}},$$

$$(11) \quad G'_{n-}(z) = \left(1 - \frac{1}{r}\right) - \left(1 - \frac{1}{r}\right) \mu\left(\bigcup_{m=0}^{k_{zn}} T^{-m}([0, \varepsilon_n])\right) + \frac{\theta_n^-}{r^{s(\varepsilon_n)-1}}.$$

It is obvious that

$$(12) \quad \mu\left(\bigcup_{m=k_{zn}+1}^{\lfloor z/\varepsilon_n \rfloor} T^{-m}([0, \varepsilon_n])\right) \leq \mu\left(\bigcup_{m=k_{zn}}^{\lfloor z/\varepsilon_n \rfloor} T^{-m}([0, \varepsilon_n])\right) \leq s(\varepsilon_n) \varepsilon_n \leq \frac{s(\varepsilon_n)}{r^{s(\varepsilon_n)-1}}.$$

Therefore, since $F_{\varepsilon_n}(z/\varepsilon_n)$ converges uniformly on $[0, a]$, from (9), (10), (11),

(12) and Lemma 3 it follows that the function $F(z) = \lim_{n \rightarrow \infty} F_{\epsilon_n}(z/\epsilon_n)$ satisfies for $z > 0$ the equation

$$(13) \quad F'(z) = \left(1 - \frac{1}{r}\right) - \left(1 - \frac{1}{r}\right) F(z).$$

It is also easy to verify that $F(z)$ satisfies this equation at $z = 0$. Since

$$F(0) = \lim_{n \rightarrow \infty} F_{\epsilon_n} \left(\frac{0}{\epsilon_n} \right) = \lim_{n \rightarrow \infty} \epsilon_n = 0,$$

from (13) we obtain

$$F(z) = 1 - \exp\left(\frac{1-r}{r} z\right) \quad \text{for } z \in [0, a].$$

Hence, by Lemma 4 we obtain the assertion of the lemma.

Denote by P the Frobenius-Perron operator given by the formula

$$\int_A Pf \, d\mu = \int_{T^{-1}(A)} f \, d\mu,$$

which is valid for every measurable set $A \subset [0, 1]$.

It is well known that $P: L^1 \rightarrow L^1$, whenever T is nonsingular.

Proof of Theorem 1. For any $f \geq 0, f \in L^1, \|f\| = 1$, we have

$$(14) \quad F_\epsilon(f, z/\epsilon) = \mu_f \left(\bigcup_{n=0}^{[z/\epsilon]} T^{-n}([0, \epsilon]) \right) = \int_{B_{z,\epsilon}} f \, d\mu,$$

where $B_{z,\epsilon} = \bigcup_{n=0}^{[z/\epsilon]} T^{-n}([0, \epsilon])$ and

$$(15) \quad \left| \int_{B_{z,\epsilon}} f \, d\mu - \int_{B_{z,\epsilon}} d\mu \right| \leq \left| \int_{B_{z,\epsilon}} f \, d\mu - \int_{B_{z,\epsilon} \setminus B_{q\epsilon,\epsilon}} f \, d\mu \right| + \\ + \left| \int_{B_{z,\epsilon} \setminus B_{q\epsilon,\epsilon}} f \, d\mu - \int_{B_{z,\epsilon} \setminus B_{q\epsilon,\epsilon}} d\mu \right| + \left| \int_{B_{z,\epsilon} \setminus B_{q\epsilon,\epsilon}} d\mu - \int_{B_{z,\epsilon}} d\mu \right| \\ \leq \int_{B_{q\epsilon,\epsilon}} f \, d\mu + \left| \int_{B_{z-q\epsilon,\epsilon}} (P^q f - 1) \, d\mu \right| + \int_{B_{q\epsilon,\epsilon}} d\mu,$$

where $B_{q\epsilon,\epsilon} = \bigcup_{n=0}^q T^{-n}([0, \epsilon]), q\epsilon < [z]$. Since the sequence $P^q f$ is strongly convergent to the function $g \equiv 1$ (see [6] or [3]), from (14) and (15) we obtain

$$(16) \quad \lim_{\epsilon \rightarrow 0} \left| F_\epsilon \left(f, \frac{z}{\epsilon} \right) - F_\epsilon \left(1, \frac{z}{\epsilon} \right) \right| = 0.$$

From (16) and Lemma 5 we obtain the assertion of the theorem.

4. Final remarks. The proof of the following theorem is the same as the proof of Theorem 1.

THEOREM 2. *Let*

$$T(x) = \begin{cases} 2x & \text{if } x \in [0, \frac{1}{2}], \\ 2-2x & \text{if } x \in (\frac{1}{2}, 1], \end{cases}$$

and let $\xi_\varepsilon(x) = \max \{n: T^k(x) > \varepsilon, k = 0, 1, \dots, n-1\}$. Then for any $f \in L^1$, $f \geq 0$, $\|f\| = 1$,

$$\lim_{\varepsilon \rightarrow 0} F_\varepsilon(f, z/\varepsilon) = 1 - \exp(-\frac{1}{2}z),$$

where $F_\varepsilon(f, z) = \mu_f \{x: \xi_\varepsilon(x) < z\}$, $d\mu_f = fd\mu$.

From Theorem 2 we derive

THEOREM 3. *If $T(x) = 4x(1-x)$ ($T: [0, 1] \rightarrow [0, 1]$) and $\xi_\varepsilon(x) = \max \{n: T^k(x) > \varepsilon, k = 0, 1, 2, \dots, n-1\}$, then for any $f \in L^1$, $f \geq 0$, $\|f\| = 1$,*

$$\lim_{\varepsilon \rightarrow 0} F_\varepsilon(f, z/\varepsilon^2) = 1 - \exp(-\frac{1}{8}\pi^2 z),$$

where $F_\varepsilon(f, z) = \mu_f \{x: \xi_\varepsilon(x) < z\}$, $d\mu_f = fd\mu$.

Proof. Set $T_1(x) = 4x(1-x)$ and

$$T_2(x) = \begin{cases} 2x & \text{if } x \in [0, \frac{1}{2}], \\ 2-2x & \text{if } x \in (\frac{1}{2}, 1]. \end{cases}$$

It is well known that if $\varrho(x) = \frac{2}{\pi} \arcsin \sqrt{x}$, then $T_1 = \varrho \circ T_2 \circ \varrho^{-1}$. We have

$$F_\varepsilon\left(f, \frac{z}{\varepsilon^2}\right) = \mu_f\left(\bigcup_{n=0}^{k_{z\varepsilon}} T_1^{-n}([0, \varepsilon])\right) = \mu_f\left(\bigcup_{n=0}^{k_{z\varepsilon}} \varrho \circ T_2^{-n} \circ \varrho^{-1}([0, \varepsilon])\right) = \int_{B_{z,\varepsilon}} f d\mu,$$

where

$$B_{z,\varepsilon} = \bigcup_{n=0}^{k_{z\varepsilon}} \varrho \circ T_2^{-n} \circ \varrho^{-1}([0, \varepsilon]).$$

and $k_{z\varepsilon} = [z/\varepsilon^2]$. By Theorem 2 and by the mean value theorem we obtain

$$\lim_{\varepsilon \rightarrow 0} \int_{B_{z,\varepsilon}} f d\mu = \lim_{\varepsilon \rightarrow 0} \int_{\varrho(B'_{z,\varepsilon})} f d\mu = \lim_{\varepsilon \rightarrow 0} \int_{B'_{z,\varepsilon}} f(\varrho(x)) |\varrho'(x)| d\mu = 1 - \exp(-\frac{1}{8}\pi^2 z)$$

where $B'_{z,\varepsilon} = \bigcup_{n=0}^{k_{z\varepsilon}} T_2^{-n} \varrho^{-1}([0, \varepsilon]) = \bigcup_{n=0}^{k_{z\varepsilon}} T_2^{-n}([0; \eta])$, $\eta = \varrho^{-1}(\varepsilon)$ and $k_{z\eta} = [z/\varrho(\eta)^2]$.

References

- [1] A. Avez, *Propriétés ergodiques des endomorphismes dilatants des variétés compactes*, C. R. Acad. Sci. Paris Sér. A-B 266 (1968), p. 610–612.
- [2] R. Bowen and D. Ruelle, *The ergodic theory of Axiom A flow*, Inventiones Math. 29 (1975), p. 181–202.
- [3] M. Jabłoński, *On convergence of iterates of Frobenius–Perron operator* (to appear).
- [4] J. Kaplan and J. A. Yorke, *Preturbulence: A regim observed in a fluid flow model of Lorenz* (preprint).
- [5] A. Lasota, *Ergodic problems in biology*, Societe Math. France Asterisque 50 (1977), p. 239–250.
- [6] —, *A fixed point theorem and its applications in ergodic theory* (to appear).
- [7] A. Lasota and J. A. Yorke, *The law of exponential decay for expanding mappings* (to appear).
- [8] E. Lorenz, *Deterministic nonperiodic flow*, J. Atmos. Sci. 20 (1963), p. 130–141.
- [9] G. Pianigniani and J. A. Yorke, *Expanding maps on set which are almost invariant: decay and chaos*, Trans. Amer. Math. Soc. (to appear).
- [10] S. D. Poisson, *Recherches sur la probabilité des ingements*, Paris 1837.

Reçu par la Rédaction le 15.11.1979
